Chess  Sat  30  October  2004                                   David  Ellis  9276 1822 / openfile@bigpond.com    2

Viktor Korchnoi, now 73, is still playing top class chess & at present is representing Switzerland on Board 1 in the Chess Olympiad in Spain.  Looking back nearly 40 years, how does Korchnoi (Black) ensure a win against Averbakh (4 moves)?
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After his close call in his drawn World Championship match against Peter Leko, Vladimir Kramnik has seemed less than enthusiastic about a possible rematch with the world’s top ranked player, former champion Garry Kasparov, who is due to play FIDE champion Rustam Kasimdzhanov early next year in a 14 game elimination match, suggesting instead a tournament comprising Kasparov, Kasimdzhanov, India’s Vishy Anand & former FIDE champion Rustan Panamariov.  Kramnik claims that he is not bound to play the winner of the intended Kasparov-Kasimdzhanov match as the agreement he signed only covered an intended but unplayed Kasparov-Panamariov match.  

In writing of the Kramnik-Leko match American Jack Peters says, ‘The exciting finish only partly redeemed one of the dullest matches in history.  Too many games ended without a real fight....The drawn result should not enhance either’s reputation.’




        V  KRAMNIK   -   P  LEKO




     World Championship,  Game 14




      Caro-Kann: Advance Variation



 1    e4  
c6  


 2    d4  
d5



 3    e5  
Bf5  


 4    h4 
h6(a)



 5    g4  
Bd7(b)    

 6    Nd2(c)
c5



 7    dxc  
e6  


 8    Nb3  
Bxc5



 9    Nxc5  
Qa5+  


10   c3  
Qxc5



11   Nf3  
Ne7  


12   Bd3  
Nbc6



13   Be3  
Qa5  


14   Qd2  
Ng6(d)  



15   Bd4  
Nxd4  


16   cxd4  
Qxd2+



17   Kxd2  
Nf4  


18   Rac1  
h5



19   Rhg1! (e)
Bc6  


20   gxh  
Nxh5



21   b4! 
a6  


22   a4 

Kd8(f) 



23   Ng5 
Be8  


24   b5  
Nf4



25   b6!  
Nxd3  


26   Kxd3  
Rc8



27   Rxc8+  
Kxc8  


28   Rc1+  
Bc6(g) 



29   Nxf7  
Rxh4  


30   Nd6+  
Kd8



31   Rg1  
Rh3+  


32   Ke2  
Ra3



33   Rxg7  
Rxa4  


34   f4!  
Ra2+(h) 



35   Kf3  
Ra3+  


36   Kg4  
Rd3



37   f5!  
Rxd4+ 


38   Kg5  
exf



39   Kf6  
Rg4  


40   Rc7  
Rh4



41   Nf7+
resigns(i)

a)  4...h5 is a more popular alternative.

b)  5...Bh7 allows the dangerous 6 e6!

c)  A new move but a good one.

d)  The pawn sacrifice 14...d4 activates the ‘bad’ bishop & gains the strong square d5 for the knight.  Instead Leko heads for the endgame. 

e)  Ensuring the position remains open 

f)  22...Bxa4 allows 23 Rc7 with threat of Ng5. 

g)  Passive defence with 28...Kb8  29 Rc7, Rf8 would be hopeless with Black completely tied up.

h)  If 34...Rxd4  35 f5, exf  36 e6.

i)  41...Ke8  42 Rc8+, Kd7  43 Rd8#.


OLYMPIAD:  after 9 rounds – MEN: Ukraine 27, Russia 24.5, US 24, Armenia, Israel 23, AUSTRALIA 20 (39th):  WOMEN: China 23.5, Russia, US, India, Hungary 17.5, AUSTRALIA 14 (37th).

SOLUTION:  1...Rc4+  2 Kd2, Rc1! (Interference Sacrifice)  3 K/Nxc1, h2 & 4...h1=Q.



